What items of clothing can you see in front of Annie?
a) shorts b) skirts c) T-shirts
2 What is wrong with them?
a) There is food on them.
b) They're not fashionable,
¢) They're too small for her.
3 Annie likes acting out advertisements. What do you
think she is ‘advertising’ here?
a) eggs b) tomato ketchup
c) washing powder

"Hello there. As a mother / brother, | must fight
different trains / stains every day. Tomato ketchup.
Chocolate - huh! Gravy. And egg. But help / hell is
here! | will wash one skirt / shirt in ordinary washing
powder and the other in new Zap! So, the skirt / shirt
washed in horrible / normal washing powder is - oh! -
still thirty / dirty, but the shirt washed in new Zap is ..."

Why doesn’t Annie finish the sentence?
Because

Chocjahe mousse! A dessert for lovers!

First, take some chocolate. 1 Melt / Mix it over hot
water. 2 Separate / Add the yolk of the egg from the
| white. 3 Add / Mix the egg yolk and the chocolate.
' 4 Add / Separate the butter. 5 Add / Melt the whites
' to the chocolate and put it in the fridge.
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What time is Nick's programme on TV?

a) 6 am b) 6 pm c) all the time
Which of these weather conditions does he
mention?

a) sun b) rain
d) lightning e) wind
Why does Nick have to run back from the studio?
a) Because it's cold.

b) Because he hasn't got any money.

¢) Because women are chasing him.

¢) thunder

Bridget gets angry because the flat is too noisy.
Nick gets a part in 2 Russell Crowe film.
Hector pretends to be a Hollywood executive.
Annie advertises washing powder and dog
food on television.

Hector learns how to make chocolate mousse.
Nick appears on the TV weather show.

He doesn’t make any mistakes.

Women chase him home from the TV studio.



